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4

�'�(�'��)  5 ���������6 ���1267��
�����8�$ 1��2����
�� 
��9��
�����:�8��������$ ��������.  ;������
9
���
�2�8�� �� 
������ <�0�������
�=
��1��>�7���� � ���
��7�� 1��2���
� � ���$
��
��9��$ �������1�
��9��$ 1��2���
�8��.

?� <���� ��1��<��$ ��:����8��$ � 
������
<�0�������
�= ���
��$��= @����2�
�8��= ������ �
2�
������� �����������
�$= �����
� � 0��A��
��
�<��7�
9�� � �2����1�
��� �� @����2�
�8��
��������
��.

*+,-.+/ 0123,4  
�. ;��6A�
9 ��1�A2 ��012�� � ���
��2.

4. ;��6A�
9 ��1�A2 ��012�� ����1��>�>���� ��
��
�
��� � 1�>1�
9�� ����1��>�>���� �������.

B. ;��6A�
9 ��
���� ���
��� � <���� 2���������.

����� ��	
�  

�. C� D������ @����� <���� 2��������� �����$
8��
� ��<��
9 (15+6 478249  /E(�&& F�GG�	�3 ���
*85:;96 478249  /F�+ F�GG�	�3 �� �����2
>�����6.

H��� ��<��
9 ����� ������= ��� 4I ������ 8��
��
<212
 �
�<��>�
9�� �� �1��� @�����.  H���
��<��
9 <��9��� ������= �� ��>1�� @����� <212

�
�<��>�
9�� �� �J ������ 8��
��.

-��. 4 K�����$ @���� <���� 2��������� �����$
8��
�

4. H��� 0��2������� ���
��� �2�
� ��� 0��������
�������� ����1��1�7�D� 8��
�= ��<��
9 8��
 �
<�������= ����2 8��
�.

�
	�� ��	
�

�>671 ?@6-1 , 9,285:08@1796> -85:48
A4.171  
C������
9 �������
��9 � �������
��9�26 �����2 ���
��1����
9 
��= A
�<� �� <�� ��������� �
�������
��9�26 �����2.

;�<��
9 ����$ 8��
 � ����2
9�� ������ ���

/ELM�L3 ��� ����2
9�� ������ ���
 /ELM�L3= � 0�
��
��<��
9 ����$ 8��
.

�>671 ?@6-1 , 9,285:08@1796> 78B78C8
@+45DE1-65F  
C������
9 �������
��9 � �������
��9�26 �����2 ���
��1����
9 
��= A
�<� �� <�� ��������� �
�������
��9�26 �����2.

C�>�
9 ��>�26 ��1��9 1�� 0��2��� ����� 8��
�=
0�
�� ����$
� �� @���� � ��<��
9 ����$ 8��
.


 0���1���$ ���
��$��$ �� 2���A���6 ���12���
����� ��<��� ����D� 8��
� ��>�
��� ��>��$ ��1���
1��
�� �������� �� ���2�1 ��� ���
��� ����
�
����D� ������� 0�D�20�
 ������� 
��27�D� 8��
�.
C��
��$�2 �� 2���A���6 ��>�� �����
9= �����902�
���
��$�� :2��8�$.  N�1��<��� ��. � �2����1�
�� ��
@����2�
�8�� <���� 2���������.

-��. B O���� ��<��� 8��
� <���� 2���������
�����$ 8��
�

P��
�2�8�� ����
��9�� ������� ������ 8��
�� ��. ��
���1267�� �
����8��.

��	����	��	��� ���
	
�  

�79>1796G H1@56796)  ���� 1������� � ���
���
��1��
 ��>� QR S��= �� @����� ������� 8��
��
�
�<��>��
�� ���<7���� T;T-PUCVU 
PKCTW=
XT;WHCPH ; 
P
YHZH /E[EL�\ *��EE]��
M^M�\3.  ?��2�
�
9 ����2 8��
� <21�
 ����0��>��.

�79>1796G -6I8J,53B9@1796) ��D1� ����0����
�A�
A��� ������� �������
 2�
���2= �� @�����
>��
�� 8��
�� �
�<��0�
�� ���<7���� ;CPZTCPH=
YH_`a
WbcP;TCPH 5TZH- /dM�efeg F^M##��
\MfeL�eMe%�3.  ?�����
9 ������ ������
��� �
�<����
9 �����$��$ ��D��� � @����� �A�
A���
�������.
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����
�� ���
	
�  
C������
9 �������
��9 � �������
��9�26 �����2 ���
��1����
9 
��= A
�<� �� <�� ��������� �
�������
��9�26 �����2.  N���$
� �� D�����$ @���� �
��>�
9 �����2 ������
� /*]�g�3= 0�
�� �����2
�K���
� /%^�Me3= 0�
�� �����2 ���
 /ELM�L3.

���(�K�'��)  H��� � ���2 ��������<� ���A�� ��
����� ����0��1�
�� 2��1�
 1������� � ���
���=
��>�
 ����0�$
� ��������
��� 0�D��0�����.
;������
9 ���12��2 ����1 ��A���� ����0��1�
��
����� ����
��������� 1������� ��012��.

-��. J O���� ���12��� <���� 2��������� �����$
8��
�

������	��	 ������� ������
 ��	
��  
C� D������ @����� ����2
9�� ������ '�����L
�
/E�L]*3.  P����902� @����� ������� ������= ����
�
����� 1�� ��>1�$ ������ 8��
� � 1�� ���
���.

-��. h O���� ���
��$�� <���� 2��������� �����$
8��
�

C� ������ @����� �
�<��>�6
�� ������ �������
8��
�� %�i%�J � ������ ������ 1�� ����� ���
���.
P�� ���
��� �
�<��>��
�� >��
�� 8��
�� � ����$
��>��$ A��
� @������ ������ 8��
��.  5���2
9��
������ �1566 /\��!3= A
�<� ����$
� �� @���� ������
������� 1�� 8��
�� %�hi4I.

j
�<� ��01�
9 ����� 1�� 8��
� ��� ��� ���
���=
����2
9�� ������ ������.  `
�<��0�
�� @����
������
2��.  ;���
� k'������9��$ ����� 1�� 8��
�
��� �4'������9��$ ����� 1�� ���
���.  N��
����6A���� <���� 2��������� ������ �������6
�� �
����
�.

-��. k O���� ������� <���� 2��������� �����$
8��
�

5���2
9�� M51@7+/  /\��	3= A
�<� ����2
9�� ��
D�����$ @����.

�
	�� ��	
� � ��������� �����
����������  

���(�K�'��)  X�� ���������� 1����$ ���8�12��
1��>�� <�
9 ��
���0������� :2��8�� ���12���
<2�����.  
�. ���
�2�8�� � �2����1�
�� ��
������
��$ ���
��� %l#.

P0���A9 ���12����26 ����6 ���������� �0 ��
�
���
� �����
�
9 ����6 ���������� � <2���� 1�� �
��1��.

;�<��
9 �����2 �2>��D� 8��
� �� @����� <����
2��������� ��<���� 8��
�= � 0�
�� ����2
9�� ������
�3,4 , 2.8H3@48/ @,1,+@1DN6/ 59799  /EG��G
mnE��G��	 ^e3.  N� 2���A���6 ����A��
�� ���2�9���
1�� ����� ���������� ����� �4.  X����0�� ���2�9���
�
 � 1� hR.

C� ���1267�� @����� �
�<��0�
�� ���D�������
��1
���1�
9 
�= A
� ����� ���������� �0���A��� �0
��
�
���.

5���2����9 ������ ���
= 0��2�
�
9 ���12��2 �����
����������.  N��� ���
��� �����1�
 ���12��2 �����
����������= �� @����� <21�
 ��D�
9 ���<7����
;VN`WCHCPH /fe *�l%�EE3.

N� 0��������� ���12��� �
�<��>��
�� D�����$
@���� � ���<7����� ;VN`WCHC` /%l\*^�L�3 �
��>��$ A��
�.

-��. Q O���� �2��� � ���12���$ �������67�$ �����
<���� 2��������� ��<���� 8��
�



J

O374?99 9 71,-.8/49 J5841 32.1@5679F .1,2+59-65F>9  

a��� 2��������� ���6A��
�� ��� ���6A���� ��
����
�� ���:� �������.  X�� ����6A���� ��
���� <����
2��������� �����902�
�� ����6A�
��9 ��
���� ��
���:2 �������.

P�
��:�$� <���� 2��������� ��2>�
 1�� ���
��$��
���12�
������= �
�<��>���� ���12���1�
��9���
��1��= ���
���� ��<�
� ���
��� � ���
��$�� <����
2���������.

5������ ������L= ����0����� �� ���. I= ��2>�
 1��
����6A���� ��
��:�$�� � �������
��� �� �����
��������� � ����0��1�
��.  N��� ��
��:�$� <����
2��������� ����6A��= 0��2�� �������
���
����0��>��= � ��
��:�$� �������
��� �
��6A��.

P�1���
�� ��>�
�� ��2�����$ ������� �������
���

-�>��� ��<��� 0���1�

C��
��$�� �;

X�����$
:2��8�$n���12���>1���$

Y��27�$ ����� ���12�
������

o ��1�A�

N�����
��� �2A��

5������ ����
��

5������ e��)��	
/C��
��$��3


PX� ������ ���
��$��

;�<�� ���12�
������

?��A�� ���
����

C��
��$�� ��1�A�
��012�� �������

C��
��$�� μM

5������ ���12���>1���$

5������ ������
�� 5������ ���1�
5������ ����� 8��
�

-��. I P�
��:�$� <���� 2���������

<71E49 71,-.8/49  ��1���A���6
�� 1�� �<�0��A����
���
������� ��� ��<������ 2�
����.

b�
���� ���6A�6
 @+J8. 01.FH1G 4�G �PG Q .1,I8H1
@80H3I1 H809.8@49  � @80H3I1 .1,2+51.

X�� ��<��� ���12�
������ ��� �0������� 2�
����
���12�
������ ��>���
9 ������2 �+J8.
2.6H3,-178@49 ��� ������2 �,-1@41.  
PX �������
���
�
��= ��D����0��2� � ��<�����$ :2��8��.

�8@8.8-71F .3E41 ��2>�
 1�� �0������� ��<�����$
2�
����p ���7���� �� A�����$ �
����� 2����A����
= �
���
�� A�����$ �
����� 2���9���
 0��A����.  N��
1��9��$��� 2����A���� ����� �����>1����
������2�� 2�
���� �<�������
�� 1� �����2��.

;�<�� 2�
���� 1�� �0������� P0������� 2�
����

-��. q ;�<�� � �0������� 2�
����

��	����	��
	����	 ����  

; ��2A�� ������1�� ��A����
 ���
�
9��
���12���1�
��9��$ 0��A�� �� 1������
:2��8�$n���12���>1���$.

  X�� �
�<��>���� ���12���1�
��9��� ��1��
��>�
9 ������2 �.6H32.6BH679F.  a��� 2���������
��������
 � ����
� h �����1��� ��1��.  N�����A���
9
�2A�2 1�� �����2
�� ��1��.  N�� �
�2
�
���
��
�����
� � 
�A���� h ���2�1 1�����$ �A�7��
��.

  X�� 21������ ���12���1�
��9��� ��1��
�����2A���
9 ��= ���� �� �
�<��0�
�� �R�= � 0�
��
��>�
9 ������2 �@8H.  N��� <��� 2��������� 21����

��1�= ���12���1�
��9��$ 0��A�� ���1��>��

���
�
9��.



h

���
����� ����
���
	������ �����!�"
���
����� ���
��� ������" �	����
������

���� ��	��	�	���  

  
 ����796 ������� �.8,>8-. ���90���
��9
���2A��
 1��
2� � ���
��$�� ���12�
������
������D�
��9��D� ��012�� � <��
��$ ��1�A�= � 
��>�
� ������
�2 �����$ ���D������D� �<����A����.

N�� �����1���
��9��� ��>�
�� ������� �.8,>8-.
�
�<��>�6
�� �� ����1�2 ���1267�� :2��8��p
���
��$�� ������D�
��9��D� ��012�� /MM3= ���
��$��
<��
��$ ��1�A� /rr3= ������ ���D������D�
�<����A���� <���� 2��������� �������
����� /g%3=
������ ���D������D� �<����A���� ��12�� 1������
�������
���$ /g)3= ������ ���D������D�
�<����A���� ��12�� ��1�A� /r^3 � ������ ������
��$
A��
� D�����$ ���
� 2��������� /")3.

'1,-.8/41 @,28>8C1-65:78C8 @80H3I1  
;�����D�
��9��$ ��012� ��2>�
 1�� ��
���������
������� �0 ������ � �������
��9.  O
� ����
��0�����
 ��
���0�����
9 ����0��1�
��9���
9
������ � �������
���= ������� ��� ����>�� ��1�A2
������D�
��9��D� ��012�� �� ���8��
� �
 �<7�$
��1�A� ��012�� 1�� ��>1�$ ���12�
������.

;�����D�
��9��$ ��012� ��>�� ���
�����
9 �
1����0��� �
 shRo 1� �hRo � ��������
�� �o.

X�� ���
��$�� ��1�A� ������D�
��9��D� ��012��p

�. C�>���
9 ������2 �.8,>8-.= ���� ��
�
�<��0�
�� PP.

4. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 0��A����.

B. C�>�
9 �@8H 1�� ����������.

-��. �R C��
��$�� ������D�
��9��D� ��012��

'1,-.8/41 J+,-.8/ 28H1E9  

 ����796 ���
��$�� <��
��$ ��1�A� ��>�� 0�1�
9
<��
�26 ��� ������9�26 ��1�A2 1�� ��>1�$
���12�
������.  C�����9��� ��1�A� �����
��
���
��$��$ �� 2���A���6= ����������$ 1��
<��9����
�� ���������� ��
�������.  P����90���
9
���
��$�2 <��
��$ ��1�A� 1�� ����������
��
�������= � 
�21�� ��11�67���� ����1��>�>���6
� ���67�� 
��1��8�6 � �<��0�����6 ������.

N�� ������9��$ ��1�A� A��
�
� 8����� ������
���9��2�
�� � 0��������
� �
 ���
��$�� ��1�A�
�������.  H��� ��
���0������� <��
��� ��1�A�=
���
����� ��11��>����
�� ������� A��
�
� 8�����
������.

���(�K�'��)  -�<�
� � ��>��� ta��
��� ��1�A�u
�����7��
 ���� ��2><� ����>����� ��������
������= ��@
��2 �D� ���12�
 �����90���
9 
��9�� 1��
t
�21���u ���������� ��
�������.

X�� ���
��$�� <��
��$ ��1�A�p

�. C�>���
9 ������2 �.8,>8-.= ���� ��
�
�<��0�
�� SS.

4. N�� ���7���� ������
��$ �2A�� �������1�

������6A���� ��>12 & 1�� ������9��$ ��1�A� � S
<��
��$ ��1�A�.

B. C�>�
9 �@8H 1�� ����������.

-��. �� C��
��$�� <��
��$ ��1�A�

'1,-.8/41 .1,2+5679F  
N��� �������
��9 �� ��
���0������= 1�� ���1267��
���
���� ���������� �
�<��>�6
�� 2�
����.  N����
��
���0�������� �������
��� �
�<��>��
�� 
��27��
0��A���� ��1�A�.

N��90���
��9���$
��>�� i
2�
����

���12�
������

N��90���
��9���$
��>�� i

�������
��9 0��27��

-��. �4 X������ ���90���
��9���D� ��>���

�J+E7+/ .6B9>  
X�� �����90������ �<�A��D� ��>��� ���<��1���
���
���
9 �� ��D� <��� 2���������.  ; �<�A���
��>��� ��>�� ��<��
9 ��D2������2 ����1��D�
�����>���� �; /EL#3 ��� ����1��D� 
��� μM /Mr%3= ��
�� �<��� ������
��� �1����������.

�J+E7+/ ,-17H1.-7+/ .6B9> TUVWX
X�� ��D2������� ����1��D� �����>���� �; ��<��
9
�
��1��
��$ ��>��.  ; �
��1��
��� ��>��� μM ��
��D2���2�
��.

�. X�� ���
��$�� 2�
���� �; ��>�
9 ������2 4�.

PX ������� ���
�
��= ��D����0��2� � ��<���
�;.

4. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 2�
���2 �;.  H��� 2�
���� ��
�0�����
�� � 
�A���� B ���2�1 ��� ��>����
��
�6<�� �������= 2�
���� ��
���
�A����
��������
��.



k

-�>�� EL# i
2�
���� �;

-�>�� EL# i
�������
��9
��
���0������

-��. �B X������ ��>��� EL#

�J+E7+/ .6B9> PS�  
-�>�� Mr% �����902�
�� 1�� ���
��$�� ����1���
���1���� μM.  ; ��>��� Mr% ����0��>��
��D2������
9 �;= �����>���� ��
���
�A����
2�
���������
�� �� �RR �;.

�. X�� 2�
������ μM ��>�
9 ������2 �P.  
��
�
��

PX �������= ��D����0��2� � ��<��� μM.

��	���
������  

N��12�
������ ���1�
����6
 ��<�$
0����D������������� 2�
���� @���
���
�
�A�����
������
��� � ��1�A� �������= ��
���� ��0����6

�����
��2 <��
�� ����
9 ������
�� ����������
����
�� ������6A����� ������� ���12�
������.

a��� 2��������� ��>�
 �����
9 1� 4R ���12�
������.
N��12�
������ �= 4 � B 0����D����������� ��
0���1���0D�
���
��� � ���A�
� �� 2��������9���
���������� � ��� ���<��1����
� ��D2

���
�����
9��.  N��12�
������ Ji�Q ��>��
���D���������
9 �� ���<��1����
�.

�+J8. 959 90>676796 2.6H3,-178@84  
�. C�>�
9 ������2 �.6H3,-178@41.  C�A����


���
�
9�� 
PX �������.

4. ;��7�
9 ������
�26 �2A�2.  C���� ���12�
������
��0���
��
 � � 1� 4R= � 0�
�� �<�������
�� �� �.

B. ;�<��� �2>�26 ���12�
�����2= ��A�
9
����0��1�
��.  a212
 �����90���
9�� ���
���12�
���������� 0��A���� @���
���
�
�A�����
������
��� � ��1�A� �������.

J. X�� �0������� ���12�
���������� 0��A���$
���A��� �2>�� ��<��
9 
��<2��26 ���12�
�����2=
�����902� ������
�26 �2A�2.  ;�<���
���12�
�����2= �0����
9 ���
��$��
@���
���
�
�A����� ������
��� � ��1�A�
�������= 2�
������ �2>��� 0��A����.

h. C���� ���12�
������ ��A��
 ��D�
9=
��D����0��2� � 
��= A
� ������� �0�������.
C�>�
9 ������2 �@8H 1�� ���������� �����
���
����.  C���� ���12�
������ �����
���

��D�
9= ��D����0��2� � 
��= A
� 0��A����
���������.

k. j
�<� ��A�
9 ����0��1�
�� <�0 ���������� �����
���
����= �� ��>���
9 ������2 �@8H.  X��

��27�$ ��<�
� <212
 �����90���
9�� �����
0��A����= �� 1�� <2127�D� �����90������
�������
�� ����1��� 0��A���� ���12�
������.

N��� �������
��9 �� ��
���0������= �
�<��>�6
��
2�
���� ��<�����$ ���12�
������.

5������
���12�
������

-��. �J ;�<�� ���12�
������

#�	�
���
�
��	���	 ����
	
��  

O���
���
�
�A����$ ����1 ��>�� ������6A�
9 �
��>�� ��<��� 0���1�= ���90���
��9���$ ��>�� ���
�<�A��$ ��>��.

�6B9> @+J8.1 01.FH1 TUYZY[� �\
�]Y�X  
-�>��� ��<��� 0���1� i @
� ����D2���2����
���
��$�� @���
���
�
�A����� ������
���.  
PX�
��1 ��������� ��<��� 0���1� ��2>�
 ��1���
�����
��<�����D� ��>���.

-�>��� ��<��� 0���1� ���6
 ���1267�� 0���1����
���
��$��p

-�>�� � N��
����� �����
�� �RR �;= �h μM
-�>�� 4 Z�
������   hR �;= hR μM
-�>�� B K�2<���� �����
� �RR �;= kR μM

-�>�� � -�>�� 4 -�>�� B

-��. �h -�>�� ��<��� 0���1� /E!&!�G %v��+!3

���(�K�'��)  H��� �����
�� ����
��
��
�
��D2������
9 0��A���� �; ��� μM � ��>��� ��<���
0���1�= <��� 2��������� ������6A�
�� �
���90���
��9���$ ��� �<�A��$ ��>��.

�85:08@1-65:,49/ .6B9>  
N��90���
��9���$ ��>�� �����
�� ��>���� ��
2���A���6.  N��90���
��9���$ ��>�� �<����A����

��0��>���
9 ��0�������D� ��D2��������� �; � μM.  ;
���90���
��9���� ��>��� 0��A�� EL# � Mr% ��
���
�
��.

�. X�� 2�
������ ��� �0������� �; ��>�
9 ������2
4�.  
PX ������� ���
�
��= ��D����0��2� �
��<��� �;.

4. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 2�
���2 �;.  H��� 2�
���� ��
�0�����
�� � 
�A���� B ���2�1 ��� ��>����
��
�6<�� �������= 2�
���� ��
���
�A����
��������
��.

B. X�� 2�
������ ��� �0������� μM ��>�
9 ������2
�P.  
PX ������� ���
�
��= ��D����0��2� �
��<��� μM.



Q

J. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 2�
���2 μM.  H��� 2�
���� ��
�0�����
�� � 
�A���� B ���2�1 ��� ��>����
��
�6<�� �������= 2�
���� ��
���
�A����
��������
��.

���(�K�'��)  X����0�� μM �� 2���A���6 �RihR μM.
K����8� 1����0��� ��>�� ���
�����
9.

� N��� �������
��9 �� ��
���0������= ��
1������ �
�<��>�6
�� 2�
���� �; � μM.

� N���� ��
���0�������� �������
��� ��
1������ <212
 �
�<��>�
9�� :��
�A�����
����1��� 0��A���� �; � μM.

N��90���
��9���$
��>�� i
2�
����

���12�
������

N��90���
��9���$
��>�� i

�������
��9 0��27��

-��. �k X������ ���90���
��9���D� ��>���

�J+E7+/ .6B9>  
X�� �����90������ �<�A��D� ��>��� ���<��1���
���
���
9 �� ��D� <��� 2���������.  ; �<�A���
��>��� ��>�� ��<��
9 ��D2������2 ����1��D�
�����>���� �; /EL#3 ��� ����1��D� 
��� μM /Mr%3= ��
�� �<��� ������
��� �1����������.

�J+E7+/ ,-17H1.-7+/ .6B9> TUVWX
X�� ��D2������� ����1��D� �����>���� �; ��<��
9
�
��1��
��$ ��>��.  ; �
��1��
��� ��>��� μM ��
��D2���2�
��.

�. X�� ���
��$�� 2�
���� �; ��>�
9 ������2 4�.

PX ������� ���
�
��= ��D����0��2� � ��<���
�;.

4. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 2�
���2 �;.  H��� 2�
���� ��
�0�����
�� � 
�A���� B ���2�1 ��� ��>����
��
�6<�� �������= 2�
���� ��
���
�A����
��������
��.

-�>�� EL# i
2�
���� �;

-�>�� EL# i
�������
��9
��
���0������

-��. �Q X������ ��>��� EL#

�J+E7+/ .6B9> PS�  
-�>�� Mr% �����902�
�� 1�� ���
��$�� ����1���
���1���� μM.  ; ��>��� Mr% ����0��>��
��D2������
9 �;= �����>���� ��
���
�A����
2�
���������
�� �� �RR �;.

�. X�� 2�
������ μM ��>�
9 ������2 �P.  
��
�
��

PX �������= ��D����0��2� � ��<��� μM.

4. ;��7�� ������
�26 �2A�2= 2����A�
9 ���
2���9��
9 2�
���2 μM.  H��� 2�
���� ��
�0�����
�� � 
�A���� B ���2�1 ��� ��>����
��
�6<�� �������= 2�
���� ��
���
�A����
��������
��.

X����0�� μM �� 2���A���6 �RihR μM.  K����8�
1����0��� ��>�� ���
�����
9.

C�������= ���90���
��9 ��>�
 2�
�����
9 ���
��$�2
μM �
 h= J= B=R= 4=q= 4=I= ..... 1� R=�.

-�>�� Mr% i �������
��9
��
���0������

-�>�� Mr% i 2�
���� μM

-��. �I X������ ��>��� Mr%

���
����� ������ ����$��  

N�1�A� ��012�� 1�0������ ������� � ��012��
������� ���
�����6
�� � ���1267�� 1����0����p

X�0������ �������p Ri�RRo 
;�012� �������p RiB=hR � ��������
�� R=Rh

X�� ���
��$�� ��1�A� ��012�� 1�0������ ���
�������p

�. C�>�
9 ������2 �809.8@41 ��� �1,2+5.  C�A��

���
�
9�� 0�����$ 
PX ��<�����$ �������.

4. ;��7�� ������
�26 �2A�2= 2����A���
9 ���
2���9��
9 2�
����.  b�
���� ��
���
�A����
��������
��= ���� ��� �� �0�����
�� � 
�A���� B
���2�1 ��� ��� ��>�
�� �6<�$ �������.

5������ 1�0������

?��A�� �������

?��A�� ���8��
�
��012�� 1�0������

5������ �������

-��. �q b�
���� 1�0������ � �������



I

�26.1?9F 2.8H3@49  

�������� ���
	
� %&'(  

C�>�
9 ������2 �>671 ?@6-1 �� <���� 2���������= �
0�
�� ��>�
9 �@8H �.

w��� ���12��� ��������
�� ���1267�� �<��0��p  

�. (FC41F 2.8H3@41 i ������D�
��9��$ ��012�
��0���7��
�� �� ����D�� ������ � �������67��
����D�� �� ��
�A��� ������� /E�xG E�Sv�	3= �
0�
�� A���0 ����� � ����D� 
�������
������
��1��
�� �� �������
��9 /E�xG g�	3.  N�� @
�� �

������� ���A�7�6
�� �����= ����D� �
�������
��9.

4. �>235:,71F 2.8H3@41  i ���2�9�� ���12��A��D�
��012�� ��1�6
�� � ������ �� ��
�A��� �������
/E�Sv�	 *�&�!�3= � 0�
�� � ������ �� �������
��9
/g�	 *�&�!�3.  N�����
� t*�&�! l	u ����1����

1��
��9���
9 ���2�9���= � ������
� t*�&�! lxxu
���1��>�
��9���
9 ��20� ��>12 ���2�9����.

���(�K�'��)  N���1 ��A���� ���12��� 2<�1�
9��=
A
� �������
��� ���������� � �������
��9�26
�����2.

X�� ���
��$�� ��. :2��8�� � r4k �� rB�.

�������� ���
	
� )*+*,-*.-&/01.2
3)4&5  

C�>�
9 ������2 �>671 ?@6-1 �� <���� 2���������= �
0�
�� ��>�
9 �@8H �.

w��� ���12��� ���
��� %l# ��������
�� ���1267��
�<��0��p  

�. �.8H3@41 485564-8.1  i �
������
�� ��2����$
������.  
�����
9 ������ ��0���
��
 1� �RRo
��1�A�= A
�<� ����A�
9 ��
�
�� ������� �0
������
����.

4. (FC41F 2.8H3@41 i ������D�
��9��$ ��012�
��0���7��
�� �� ����D�� ������ � �������67��
����D�� �� ��
�A��� ������� /E�xG E�Sv�	3= �
0�
�� A���0 ����� � ����D� 
�������
������
��1��
�� �� �������
��9 /E�xG g�	3.  ?� �A�
 @
�D�
�
 ������� ���A�7�6
�� �����= ����������
����D� � �������
��9.

B. �>235:,71F 2.8H3@41 i ���2�9�� ���12��A��D�
��012�� ��1�6
�� � ������ �� ��
�A��� �������
/E�Sv�	 *�&�!�3= � 0�
�� � ������ �� �������
��9
/g�	 *�&�!�3.  N�����
� t*�&�! l	u ����1����

1��
��9���
9 ���2�9���= � ������
� t*�&�! lxxu
���1��>�
��9���
9 ��20� ��>12 ���2�9����.

J. �.6H@1.9-65:71F 01C.3041 28.8;41 i � 
�A����
0�1����D� ������� ������� ����D� 8��
�
����A����
�� � �������
��9 �� �RRo ��1�A�$=
A
�<� 0�D�20�
9 ���
��2 ����1 ��A����
����0��1�
��.

w��� ����� 8��
� 0��2����
�� �����
���� ��� ��
��D���2 1��
��8�����D� 2��������� �� <���
2��������� %�&��'l	'#!(�	).  N��>1� A�� ��A��
��
���1����
��9��� 0�D�20�� �������= �����
��
0��2����
 ����2 8��
�= ��<���� ����$ 8��
 � ������9
������ �3,4 /EG��G3 �� ��������� @�����= ��� ��>����
�� ��>�26 ��1��9 � �����1267�� ��<���� ����D�
8��
�.

C� @::��
�����
9 1����� ���
���� ��D2
 ������
9

�� � ���>���
9 �������= 1���� ����D�� � 1�2D��
����������.  C��<��1��� ��1�
�����
9 1�����
���
��$�� 1�� ���1�
���7���� ��������
��D�
0�D��0����� 8��
�� � ��11��>����
����0��1�
��9���
�.

X�� ���
��$�� ��. :2��8�� � r4k �� rBB.
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87^9C3.9.8@1796  

�
���
�	 
	�6 7������ � �����
���
��	�  

 C�>�
9 � 21��>���
9 ������2
������� � 
�A���� h ���2�1.  N�1���A����
�� 1�����$
:2��8�$n���12���>1���$= �� ��
���� �
�<��>�6
��
������ � 0��A���� :2��8�$.  y2��8�� �����9026
��
1�� ���
��$�� <���� 2��������� � ���
��
�
��� �
������
��� ��0��A�����.

P����90���
9 ������
�26 �2A�2 1�� �����2
��
������� :2��8�$.  X�� ��<��� �
�<��>����D�
������ :2��8�� ��>�
9 ������2 �@8H.  C�����
:2��8�$ �
�<��>�6
�� � :����
� rRR�RR
/������0��A���� :2��8��3.

b ��<�����$ :2��8�� ��D��
 0��A���� �� ���
��$��.
?��A���� �0�����
�� ���7����� ������
��$ �2A��.
C�>�
9 ������2 �@8H 1�� ���������� �0������$ �
����1� �0 0��A���$= ����� A�D� ��� ���7���� �2A��
<212
 ����� �����2A���
9�� ������ :2��8�$.

y2��8�� R�= 0��A���� RR y2��8�� R�= 0��A���� R�

-��. 4R `
�<��>���� � �0������� ���
���� :2��8�$

Y�<�. '�  C��
��$�� :2��8�$  

'8>6.
^374?99

'19>678@1796 ^374?99

rRR Y�� �������
���

rR� N���1��>�>����

rR4 H1���8� �0������� ��
1������

rRB -�D2�������
@���
���
�
�A�����
������
���

rRJ -�D2������� ��1�A� �������

rRh a��������� ������
2��

rRk ?�1��>�� ����.
��<����
�
���

rRQ Y�$��� 
���<��2>������=
�������
��9

rRI C�0��A���� ������6A�
���
���
����

rRq N��12���1�
��9��� ��1�

r�R `<�2����� /N�1�A�3

r�� X�����$ ���<��
�������
���

r�4 C�>��$ ���1�� μM
r�B ;�����$ ���1�� μM
r�J 
2������� ����<�
�� � A����

r�h 
���������n;���
���������n

<���

r�k z����
9 1������
�������
���

r�Q 5���A��
�� ���12�
������

'8>6.
^374?99

'19>678@1796 ^374?99

r�I Y�� 2���������

r�q Y�� ������

r4R 5���A��
�� �������
���$

r4� Y�$��� 
���<��2>������=
�����

r44 N��12���

r4h ?�1��>�� ��012�� �������

r4k E�xG E�Sv�	

r4Q E�xG g�	

r4I *�&�! le

r4q *�&�! lrr

rBR E�Sv�	 *�&�!�

rB� g�	 *�&�!�

rB4 N��1����
��9��� 0�D�20��
�������

rBB N��12��� ������
���

rBJ 5���
��
� M ��012��
1�0������

rBh 5���
��
� % ��012��
1�0������

rBk 5���
��
� M ��012�� �������

rBQ 5���
��
� % ��012�� �������



�R

�2.1@56796 .1,2+59-656>  

P�
��:�$� � ������6A�
��9 ���
���� �������
���
��0����6
 ������6A�
9 ���12�
������ ��� ����
9
���
��$�� ��1�A� �������= � 
��>� ���12��
9
�������
��9 <�0 �����90������ ��
��:�$�� <����
2���������.

5������
��>����

?��A�� ��>���
���12�
������

?��A�� ��>���
��1�A�

5������
���12���

X�����$

�7-6.^6/, .1,2+59-65F

-��. 4� `�D��� 2��������� ��
��:�$���

N��������n;��.

N���>����n;���.

�6.645DE1-65:
71,-.864

�23,48@1F 451@9;1 .1,2+59-65F

-��. 44 `�D��� 2��������� ��2�����$ �������
�������
���

�	�	��6�	��	 ��	���
������ �
��
�8�6 �	�	��6��
	�� ���
��	�  

�. 
�. ���. 4� � 44.  `
�2�
�
9 ��2����26 ������2
�������
���.  N��12�
������ �� ��D2

������6A�
9��= ���� ��
���0������ �������
��9.

4. C�>���
9 ������2 �6B9>= ���� �� �����
�
��
0��A�� �6B9> 2.6H3,-178@49.  C� 1������
�
�<��>��
�� ����� 
��27�$ ���12�
������.

B. `
��1�
9 ������6A�
��9 ���
���� ����� ��� ���0=
���� �2>��$ ����� ���12�
������ �� �
�<��0�
��
�� ��
��:�$�� �������
���.

���(�K�'��)  C�0����D������������� ������
���12�
������ /���12�
������= 2 ��
���� ��� 2�
����
����� �2�63 ��
���
�A���� ����2���6
��.  ?�
���
�2�8���� �� ���D�����������6 ���12�
������
�<��7�
9�� � �2����1�
�2 �� @����2�
�8�� <����
2���������.

J. C�>�
9 ��2����26 ������2 �������
���.

��
��� ��A��
 ���������� � ����$
���12�
������$.

?� 1�2D��� ���
��$���� �<��7�
9�� � ��01��
���
��$�� <���� 2���������= rRI.

���
����� ������ ����$�� �
��
�8�6 �	�	��6��
	�� ���
��	�  

�. 
�. ���. 4� � 44.  C�>���
9 ������2 �6B9>= ����
�� �����
�
�� 0��A�� �6B9> 28H1E9.

4. 
����
9 ���
��$�� ��1�A�= �
>����
������6A�
��9 ���
���� ����� ��� ���0.  N��
@
�� ��>�� �� �
�2���
9 ��2����26 ������2
�������
���.

N�1�A� ������� �0�����
�� ����1�����.  C����
2�
���� ��1�A� �
�<��>��
�� �1���������� ��
��
��:�$�� �������
��� � ��
��:�$�� <����
2���������.

���(�K�'��)  N�� �����90������ ��>��� �JN1F
28H1E1 2�
���� �2������$ ��1�A� ��012�� 1��>��
<�
9 <��9�� �2��= ���A� <21�
 ����0��>��
2�
�����
9 o ��012�� ��1�A� � �������
��9 �� <21�

�������
9 �������.  ?� 1������
��9��$
��:����8��$ �<��7�
9�� � �2����1�
�2 ��
@����2�
�8�� <���� 2���������.

�������� �������
	��  

�. 
�. ���. 4� � 44.  C������
9 �������
��9 � �����2
� �
�2�
�
9 ��2����26 ������2 �������
���.

4. C�>�
9 ������2 �.8H3@41.  N��12��� <21�

���1��>�
9��= ���� ��>�
� ������� �.8H3@41.

���(�K�'��)  H��� ������6A�
��9 ���
����
����:�D2������� �� ���12��2= 
� ��� �D� ��>�
��
����� ��� ���0 <21�
 ��27��
���
9�� ���12���
�������
���.  P��
�2�8�� �� 2�
������
������6A�
��� ���
���� ��. ��1 0�D�������
�������	� 
��	� �
�������� � �2����1�
�� ��
@����2�
�8�� <���� 2���������.

-������
��9 �2>1��
�� � �����1�A����� ���12����
1�� ��11��>���� A��
�
� ��2
�����D� ���������D�

���
�.  C��<��1���� ���1��>�
��9���
9 �
�����1�A���
9 ���12��� 0�����
 �
 ��>���
@����2�
�8��.

���(�K�'��)  N��12��A��$ ��012� ���A�7��


��9�� ���������$ 
���
 �������
���.  X�� ���12���
���������D� ����D� �D� ���<��1��� �
���1���
9 �

������ � �������
���= ��
���
9 � �����2 ���8��=
�
���1������� �
 �������
���= � ���12
9 �>�
��
��012��� A���0 ����8= �
���1������$ �
 ������.



��

O374?9F @80H3;78/ 8E9,-49 A564-.8H1  

O���
��1 �������
��� ���
����� �A�7��
��
��012��� 1�� ���1�
���7���� �
��>���� ������� ��
@���
��1�.  ;�012���� �A��
�� @���
��1� ���6A��
��
� ����6A��
�� ��
���
�A���� ��� ��>�
�� �
�
�2������ ��2�����$ ������� �������
���.

P��
�2�8�� �� ���
��$�� �����1� ��012�� 1��
�A��
�� @���
��1� ��. � �2����1�
�� �� @����2�
�8��
<���� 2���������.

�B6H76@71F A4,2531-1?9F  

9����� � :������
���6
b�
������ ��1�A2 ��012�� ����1��>�>���� �
1�0������ �� ���9= ���6A�
9 �������
��9 � 0�����
9
����1�26 ���2 
��� μM= ��D1� ����1 �������
����
��
 �01���$. N������
9 ����1�26 ���2 
��� μM
�>�1����� ��� 
���� >� 2�������. ?��A�
��9���
��������� ����1��$ ���� 
��� μM ��>�
 ��2>�
9
���0����� ����
��D� 0�������� � ��0��
���
�������
���. ?��A�
��9��� ���>���� ���� 
���
2��0����
 �� 
�= A
� ��0��
�� ��� 2���>�
��9
�����>���� �2>1��
�� � 
���<��2>������.

9�����
�. ;��6A�
9 ��
�>��$ ���
���
�� �������
��9��$

������.

4. ;��6A�
9 ��1�A2 ��012�� � ���
��2.

B. b<�1�����9= A
� ��2������ ������� �������
���
�� ��>�
�= ���6A�
9 ��
���� <���� 2���������.
N�1���A���6
�� 1������ � 0��A�� ��
��:�$��
<���� 2��������� � ��
��:�$�� �������
���.

����
��  
5������ �.8,-8/ �� <���� 2��������� �	���! "#
��2>�
 1�� ����6A���� ��
��:�$�� � �������
��� ��
����� ��������� � ����0��1�
��.  N��� ��
��:�$�
<���� 2��������� ����6A��= 0��2�� �������
���
����0��>��= � ��
��:�$� �������
��� �
��6A��.

X�� ����6A���� ��
���� <���� 2���������
����6A�
9 ��
���� ���
��� � ��12�� ��
���� ���
������ 2���������.

�
��6�	��	  
X�� �
��6A���� ���
��� "#^{ �������
9 ���1267��
�����8��p

�. C�>�
9 ������2 �>671 ?@6-1 1�� 0��2���
�A��
�� ���
��� �
 ��
�
��� �������.

4. N��12��
9 �������
��9= ��>���� ������2
�.8H3@41 � 
��9��$ �
����� �������
���= ����
�0 �������
��� �� �����
���
 ��12��
9��
�������.

B. ;���6A�
9 �������
��9 � ��
��:�$� ��>�
���
������� �.8,-8/.

J. ;���6A�
9 ��1�A2 �>�
�D� ��012�� � ���
��2 �
�<����
9 1������� � ���
��� �� ���:2 �������.

h. ; ��2A�� �
��6A���� �� ��A9 ��� <����
1��
��9��$ �����1 ������� �
��6A�
9 ��
����
���
���.

k. N�����
� �����8�� ���8�12�� �>�1�����D�

���<��2>������.

�6I8J,53B9@1796  

`A��
�
9 :���2��2 �������
���= ���������$ 
���

�������
���= :���2��2 ������ � ����� ������ �
2�9
��0�2����� �A��
�
���= �����902� @�2�9�������
A��
�7�� ���1�
�� l�|�G!�  F!G�E�&} ��� �����D�A���.
N���1 2�
������$ �����
9 � A��
�$ ��1� � ���2��
9.

C� ��D�2>�
9 20�� @���
��1� �������
��� � A��
�7��
���1�
�� ��� �������A�26 ��12.  N���1 �A��
��$
���
9 ��� 2���
��
��9��� ���98�.  C� 1��2���
9
���
��
� 2���
��
��9��� ����8 � A��
�7��
���1�
���.
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X�
� 2�
��������� ��
�����D� ����� 4R�J D.  �	���!= *��)�+,= %�&��'�	'#!(�	)= e��)��	 � ��D�
�� e��)��	 
����6
�� 0���D��
����������� 
�������� 0������ 5������8�� e��)��	.




